AOp< Infercept FOAM

linear equations can be written in slope-intercept form. In the equation. m
represents the slope and Tells us how To move belween points. The letler 5
represents the y-tercept and tells us where to begimour graph on the y-axis.

wﬁ“(oiq,g the e%ual?iorb om, 8 3P8th:

1. Determine if the slope is positive or
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-
Slantsup |, |
from left to 1

negative m=2b=-3 | right
. . rise 2 X
2. Find the slope using o 3 }
— 2 4 -3 2 -1
3. Find the y-intercept where the line y=3*=3 ¢
crosses the y-axis.
-5
wriling the equation, J%“L a table: e&amyplez
X Y y=mx+b
. ) changeiny | —12=-2(4)+b
1. Find the slope using change inx +2< 2 0 >_4 12— —8+b
2. Using the slope and one ordered pair 0 | -4 —4=b
from the table, plug into y=mx+b and 4 [ -12
solve for the y-intercept (b). changeiny —4 2 -2 y=—2x—4

= = — = —2
changeinx 2 2 1

writing) bhe equation, from, conext

1. Identifiy the starting value (y-
intercept).
2. ldentify the rate of change (slope).

ex,ahbpla
Kenny and his friends rented a boat at The lake.
The marina charges a $35 rental fee for a boat,

and charges $15 an hovr To vse The boat.
starting valve: $35, rate of change: $15

y = 15x + 35
——————————————— - ex,anbpleéz
1 Converling into slope-intercepl form: | 3,y 2% 503y = 15
| =3x — 3x +5x + S5x
| Solve The equation for y (qet The y by ifself). | —y _—3x+4 3y _5x+15
L e e e e e e e e e e e e e e e o - 1 -1 3 . 3
y=3x—4 y=3x 45



